ARBEITSBLATT   VERERBUNG

Welche Fehler hat das folgende Programm bzgl. des Zugriffschutzes ?

class Mutter{

  private:

    int prim;

  protected:

    int prom;

  public:

    int pubm;

};

class Kind1:private Mutter{

  private:

    int prik;

    void prifk(){

      prim=11;     

      prom=12;

      pubm=13;


}

  protected:

    int prok;


void profk(){

      prim=14;      

      prom=15;

      pubm=16;

    }

  public:

    int pubk;

    void pubfk(){

      prim=17;      

      prom=18;

      pubm=19;

    }

};

class Kind2:protected Mutter{

  private:

    int prik;


void prifk(){

      prim=11;      

      prom=12;

      pubm=13;


}

  protected:

    int prok;

    void profk(){

      prim=14;    

      prom=15;

      pubm=16;

    }

  public:

    int pubk;

    void pubfk(){

      prim=17;      

      prom=18;

      pubm=19;

    }

};

class Kind3:public Mutter{

  private:

    int prik;

    void prifk(){

      prim=11;     

      prom=12;

      pubm=13;


}

  protected:

    int prok;

    void profk(){

      prim=14;     

      prom=15;


 pubm=16;

    }

  public:

    int pubk;

    void pubfk(){

      prim=17;     

      prom=18;

      pubm=19;

   }

};

void main(){

  Kind1 k1;

  Kind2 k2;

  Kind3 k3;

  k1.prifk();

  k1.profk();

  k1.pubfk();

  k1.prim;

  k1.prom;

  k1.pubm;

  k2.prifk();

  k2.profk();

  k2.pubfk();

  k2.prim;

  k2.prom;

  k2.pubm;

  k3.prifk();

  k3.profk();

  k3.pubfk();

  k3.prim;

  k3.prom;

  k3.pubm;

}





























































































